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wer Question 1 or Question 2 and any SIX questions from Questio |
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. Discuss the transformation w = z + 2% 0. [08) CO3 L3
5 N nate : d'y d
'3 -\ppl\ Milne's method to compute y(0.8) given = l= Zyﬁ and the following table
of initial values:
I
| x 0 0.2 0.4 0.6
¥y 0 0.02 0.0795 0.1762 (08} S 15
[y 0 0.1996 0.3937 0.5689
o Using Taylor series method, compute y(0.2) and y(0.4) given (_(;xz =x’y~1, with
¥(0) = 1. Consider up to fourth degree terms. (07] el B
4. Solve the differential equation Lo (x +¥) under the initial condition (F=20
ax — 08 (x+y YOI =2y on cor 13

using modified Euler’s method. Find y(0.4) by taking h = 0.2.
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Answer Question 1 or Question 2 and any SIX questions from Question 3 to 10. | MARKS |CO |RBT
Discuss the transformation w = z + %7 # 0. [08] Co3 L3
ilne” (0.8) given 22=1_ 2y and the following table
2 Apply Milne’s method to compute y(0.8) given == = Yo 2
of imitial values: |
X 0 0.2 | 0.4 ‘ 0.6 : !
Ty 0 0.02 00795 | 0.1762 [08] Col L3
[ y™" 0 0.1996 | 0.3937 | 0.5689
. d) T . I
3. Using Taylor series method, compute y(0.2) and y(0.4) given pi =x"y+Il, with [07] COIILS

y(0) = 1. Consider up to fourth degree terms.
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